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101 @124l 42,248 41,662 586
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< 50,000
e 100,000
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10,800,000& * 1H 10,800
04 JIZHHZ2XREE S 22,650 23,318 A 668
OLtE THA R AR 22,650,000& * 1¥ 22,650
= 11,325
< 3,397
s 7,928
307 21201 A 926 0 926
= 926
05 RIZt2IEt = 926 0 926
OMBEXAZTAE J=l=s 463,000& = 29 926
= 926
401 Al HI & 28I 1,156 0 1,156
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03 Al S THHI 1,656 3,096 21,440
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04 JIZHHZ2XREE S 54,600 54,600 0
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—JH0l& QB EZ MOt Y =25
120,000 * 123 1,440
~£72543 HEEs L ARES FM)
= 800,000& * 123 9,600
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2,000& * 30clE * 120 7,200
St =g 3 2l 80,000 70,000 10,000
= 10,000
< 5,000
s 65,000
NES2 80,000 70,000 10,000
= 10,000
< 5,000
s 65,000
NEIZR olZet e & T2 293 30,000 70,000 A 40,000
= 10,000
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